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2N IASAD
M JAMH MYA P
Sl FOl AS NHIA (S &2)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O 0l xel OtelXl 228 A8
200,000& = 6% * 13| 1,200
308 XX G SO|IA 1,850 0 1,850
10 B2 SUHUSHEAEAE AT Y| 1,850 0 1,850
O XA = SEFEAAE 29
1,850,000 = 14! 1,850
403 XX SHHS K20 & 7,340 0 7,340
02 BI2SHUSXAN=2EAEAIS Y 7,340 0 7,340
O XA FUSEFEANAE 2=
7,340,000& = 1A 7,340
I MHHIA A (AeXl) 37,653 15,154 22,499
201 et d| 35,213 12,154 23,059
01 AFR 2t 2| bl 25,085 12,154 12,931
O gbtx==H| 4,085
— ool gz)| AlZE3te Z2H >z
S 99
IEZ2HE=ES 1,500€ = 304 = 12& 54
SAE 5,000& =~ 304 ~ 3& 45
— DIRA SHAHINNE & S5F2Y
600,000 * 43| 2,400
— pIgolZE MXEAMI) EH, EH
200,000& = 1CH = 23| 400
— 0@ 2 g M 2
1,000,000 = 14! 1,000
— QRS2 (IIEZAH) 186
et el=4=2 (2 A)
5,500& ~ 10§ = 12& 66
IHELE 10,000& = 10H ~ 12& 120
O QA ASHI MH2(LXUR) 3,600
— JAEHI T dX=
300,000 ~ 12€ 3,600
O 29x¢ 3,000
— DIREE XE 2ZAIE=E 500,0008 * 63 3,000
O 2 & dl 1,600
— HIUR U oRYREZ
8,000& * 5% * 403 1,600
O 1Il=d| 12,800
— 0IRA22=2 221 160,000 * 40Y * 23| 12,800
02 32%H| 10,128 0 10,128
O oNEH 22&H T4 10,128
— Hlae AX 220,000 = 1204 2,640
Hlargl i xt= 52,000 * 1200 ~ 12€ 7,488
202 o4 | 2,440 3,000 A 560




A QIS AL
M OABH MHA 7
Sl X0l AS HHIA (ol @)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 = LH 4 bl 2,440 3,000 A 560
O szyoa U uAAL X2
20,000& = 5% « 103l 1,000
O RAM0IA 0I5 I AId AL &2 S
20,0003 = 29 = 3¢ » 12& 1,440
IIESAHSE MRBEXA 30,726 30,123 603
= 30,726
101 1A Hl 21,256 20,837 419
= 21,256
04 JIZHHZ2XRHEE S 21,256 20,837 419
O JI=EAHSE MRXNA(S
21,256,000& 21,256
= 21,256
201 £B-2dH| 3,641 3,571 70
= 3,641
01 At 224l 3,641 3,571 70
O Sl 3,641
~ NEBIHSE NSNA(S - H)
3,641,000& 3,641
= 3,641
202 oddl 5,829 5,715 114
= 5,829
01 = LH o4 bl 5,829 5,715 114
O INEZEHEE MRBXNA(S - H)
5,829,000& 5,829
= 5,829
gzl 10,010 10,000 10
= 10,010
201 LBH2E| 8,500 4,360 4,140
= 8,500
01 At 2t 2l 8,500 4,360 4,140
O el 8,000
- A= =4 8,000,000& 8,000
= 8,000
O S&l 500
- =R =4 500,000& 500
= 500
202 Odl 1,510 5,640 A 4,130
= 1,510
01 =S LHYI 1,510 5,640 AN4,130
O agsg =& 1,510,000& 1,510
= 1,510
DoSHe SA 22 11,480 0 11,480
S 250t MUlA K& 11,480 0 11,480
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AN UASAHD
Hm: Fedgpe
el ASUT2Y CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O sHE BIZEH ALY 500,000& * 60 30,000
HES K AL 50,000 100,000 A 50,000
402 BIZEXHE 0 A 50,000 100,000 A 50,000
03 212t &AL S HI 50,000 100,000 250,000
O #g@=ssIAg (oo e ZHRE3)
5,000,000 * 1094 & 50,000
A2 273,358 200,068 73,290
INESR-\S| 273,358 200,068 73,290
NE=sg & EXO0s 44,368 48,548 A 4,180
201 ¢er24| 40,528 45,668 25,140
01 At 22/l 40,528 41,668 A1,140
O ger+gH| 38,380
— NHSYIIEY 23 5448
110,000& = 80& =« 1.1 9,680
— NAIJEE /52 =8 27,500
A& &2E 250,000& = 408 = 1.1 11,000
NEE2E 15,000& = 1,000& * 1.1 16,500
- NHEPADE 2R HOH 2
60,000& = 20& 1,200
O 2g=¢ 420
- BRENSY AV 2Y+Y
70,0008 * 6% * 13l 420
O = & dl 1,728
— XN&E32 2 EXN0I=s el F& =l
8,000& = 3F * 6 123 1,728
202 044l 3,840 2,880 960
01 SLHOIYI 3,840 2,880 960
O NBZEHA & EXO0ISEZA I
20,000 = 2F * 6 * 123 2,880
O =2IJ1&E8 & NEIJEEH A 0l
20,000& = 2% = 8 * 33 960
INESESEN-1 148,990 81,520 67,470
201 LBt2H| 47,790 8,490 39,300
01 At 22l 5,960 7,490 A 1,530
O e+t 5,000
— RSHEgESR UALYsS ZEglH EUY 2,700
Egs 400,000 * 374 = 23 2,400
=1 300,000& = 10# = 13l 300
— XNEEL E2H 43 2¢
250,000& = 401 = 13l 1,000
— XNEEL E2H EX 2
60,0002 = 58 300




SA: UREAD
Ha: XEBe

Sl XIHEH (sl &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
— 22H &&E WA 250,000 = 404 1,000
O 32 & 4l 960
NEHA 2ESMESEEE A
8,000& * 2 » 52 * 12& 960
02 E2=2=2%H| 41,830 1,000 40,830
O A& &Hl Xl 41,830
— XN&EIEZS AAE SA 22|
3,000,000& = 1Al 3,000
— BESAMESsZEAAE(KRAS) S X222 38,830
HW 215,000,000 * 8/100 = 1.1 18,920
SW 181,000,000& = 10/100 = 1.1 19,910
202 044l 1,200 1,200 0]
01 24018l 1,200 1,200 0
O =AM 7 L ALY X 2e
60,000& * 1 x 20 1,200
207 I & d| 100,000 71,830 28,170
02 & AJH 2| 100,000 71,830 28,170
O BESMZHBLAALY MBI 243 7
=2 80,000
— GIS SW 80,000,000 * 14! 80,000
O N&EI=EES Motz 20,000
— EZANT L 0I=SZ2YAN BR= 20,000
SSFANT 6,000& * 2,000H 12,000
OlsZ2M & XNEAMF
800 * 10,000%H 8,000
XX - 0k AL AL 80,000 70,000 10,000
201 LBt Y| 80,000 70,000 10,000
01 AP 22| d| 80,000 70,000 10,000
O gbtx==H| 80,000
— BESAESSREAAE(KRAS) ANEEH H
HlAFS 28,000 % 2,597 4EX| * 1. 80,000
E Xl 22l 252,545 225,879 26,666
= 61,584
=} 12,000
= 178,961
NE Z2 A XD 22l 125,584 128,300 N2,716
= 61,584
= 64,000
INPIEIN; 125,584 128,300 N2,716
= 61,584
o 64,000
201 et 9| 119,584 114,300 5,284
= 58,644
= 60,940




AN UASAL
= EX22
SRl HESAIXIL 22

&

SN BB (HA) - MM - BES 0l &t o il
01 AFR2t2ltl 118,784 113,700
O get=&H| 114,900
— HESAXI BE==2 91,560
18 1g JI&E 43,600 = 1,5002 X 65,400
= 32,000
a 33,400
78 19 JI&E 43,6002 = 500 X 21,800
= 10,700
s 11,100
S|AME 43,600& » 502 X 2,180
= 1,070
[ia 1,110
(ORSIFNPS 43,6003 = 50 X 2,180
= 1,070
T 1,110
— MHESAXI BEEEMN CXES
250& * 66,0000H 16,500
= 8,120
= 8,380
— EZEH ARE F 2,010
A EXR 35,0003 * 30=rA 1,050
= 520
= 530
Eu 480,000& = 2JH4 960
= 470
s 490
- 22H A28 F2< 750
E =2 X (A0) 22,000& = 102 220
= 110
i 110
ESXI (A1) 17,000& » 108 170
2 85
= 85
23 90,000& * 44 360
= 176
i 184
- EE AEE 2Y 600,000& = 204 1,200
= 590
a 610
— HESAXI} B2 =2 M
60,0003 = 1204 = 42| 2,880
= 1,420
a 1,460
O = & dl 2,904
— WA Lex
8,000& = 3% * 121 2,904
= 1,431
i 1,473




SN RIREAD
M e el

S JHE Z2AIXIJF 22l (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O 2d9=x¢ 980
~ REANABANSAAE BHag
70,000 * 7¥H = 23] 980
= 490
= 490
02 2224 800 600 200
O Z2Z2L=22HA 800
— XJF E&EZANE EE2 B
800,000 * 14! 800
2 392
= 408
202 04 H| 6,000 9,000 A 3,000
= 2,940
= 3,060
01 2Ll 6,000 9,000 A 3,000
O HEZAIXIE =AM HI
20,000& = 3% x 100¥ 6,000
2 2,940
= 3,060
TEd 22 115,661 86,279 29,382
= 12,000
= 103,661
CE2YHFAANY 115,661 86,279 29,382
o=t 12,000
= 103,661
201 gBt2Ad| 47,288 38,192 9,096
o= 3,000
= 44,288
01 AP 2t 2| H| 5,940 5,940 0
O dutx=24| 4,000
— E2EFA EEZ2 GHUHKNE HH
1,000 = 4,0008 4,000
O 8&g9x¢ 980
— MZF=ARA{G HAELH
70,0008 = 78 * 23| 980
O 2 & dl 960
— S 2EHFTAANY F&
8,0008 * 1 = 10 * 12& 960
02 Z2=2=24%4| 41,348 32,252 9,096
O 2222 2 HA 588
— AQIE 20IF=A3BAIAE HOIH AIEZ2
24 500 x 204 ~ 12&€ 588
O A& &EHl S Al 37,760
— E2YFA DALY KBS
10,000,000& = 2CH = 8/100 = 1.1 1,760




SN RIREAD
M e el

o =2y e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- E2g=A ANES(E2gE)sXze E
B 12,000& = 3,0000H * 100% 36,000
O & &gl 292 AME2 54X
3,000,000& = 14 3,000
< 3,000
202 Odl 3,200 2,200 1,000
01 = LH 4 Hi 3,200 2,200 1,000
O E2YFA A2 ZAF 2 22
20,0003 = 2H » 30 1,200
Od= & = ASHS FELF M
20,0003 = 2H » 50 2,000
308 A EHHSOIA 19,673 18,387 1,286
1037/ 2S0HUHeBHEAEALS I 19,673 18,387 1,286
O INF=LTZFEANAE 2R 23 16,210
— GISHA SMNRIXEs 223
2,400,000& * 14 2,400
- 2IANE RES 13,810,000& * 14 13,810
O E2EFA JI2E HHSIANY BRES
3,463,000& * 14 3,463
401 AIEHI L 2CHEI 45,500 27,500 18,000
= 9,000
[ia 36,500
01 A& tl 45,500 27,500 18,000
O E2HF4 AldE2 & 2 22 31,000
- EEgo 350,000& = 604 21,000
— J=gsE 80,000& = 504 4,000
— ESHsHE 10,000& * 600H 6,000
O Jtd A d(0t2%) 2HNEH &1
1,000,000 = 700 A 7,000
< 3,500
[ia 3,500
O FHAXY ZHXNEFHSE X
1,000,000 = 40 A 4,000
< 2,000
s 2,000
O & &2 92 A& £X
350,000& * 100H A& 3,500
= 3,500
EXHeH & g 2el 11,300 11,300 0
HeREgas 2el 8,800 8,800 0
201 Yot Y| 8,000 8,000 0
01 At 22l 8,000 8,000 0
O e+t 8,000
— WY HLUIB AE 242
1,000,000& = 62 6,000
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SN RIREAD
M e el

ol EXHH 2 oig2e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— Heg=2gza S2AMEXI S =8
1,000,000& * 2A 2,000
202 O4dl 800 800 0
01 = LHA YI 800 800 0
O EXNAHH L HLREZ ZA
20,0003 = 28 » 20 800
SSAANHHA D 2,500 2,500 0
301 LB AF 2,500 2,500 0
12 JIEtE& = 2,500 2,500 0
O R4k 2 A ZaZ
2,500,000& = 14H 2,500
CXNERNEAH 839,135 756,045 83,090
= 166,442
= 672,693
K= THZE Atz el 348,348 249,588 98,760
= 166,442
[ia 181,906
K ETHEALALE =& 128,063 135,986 AT,923
201 Let2d] 81,363 73,086 8,277
01 At 22l 72,950 67,198 5,752
O e+t 67,800
— NEMHEA &H £ 22H 23 2¥
250,000& = 404 1,000
ANEMEANM & =9 Z22H EX 7L
55,000& = 108 550
— KNETHEZAL Atot2te|tHE A48 oY
2 3,000& = 350 1,050
— NETHEZALALY 228 SHIE 7L
60,0003 = 104 600

— NEMHEA 2ES ZER

40,000& = 7002 Xl * 1.1 % 27| & 61,600

ANHMHEAN E22 HH

10,0008 * 3007H 3,000
O sg+g 3,710
— NEWEZASIBE B8+
70,0008 * 62 * 33| 1,260
— A2V BHaLY
70,0008 * 7% » 53] 2,450
O 2zl 1,440
— NEMEZAAY =T S|
8,000 * 3% * 52 « 128 1,440
02 B 8.413 5,888 2,525
O ZZR3 % HAl 8.413
— NEMEA ADSOIN BT
2,330% * 350% * 33 2,447
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S oA=L AN

[ U SS)

P OXNEXNEAS
DN ETHZE A2

- _ _ RE]
SA - B .G (3AH) - MBAY - BES gﬁ‘&i HR=2
— XNENEZAL SSHY 204 2
2,3308 * 480% * 13| 1,119
— XEMWEA HBEN E2
2,3308 * 480¥ * 1.23] 1,343
— XNEMMEAI EXNAKRAEAS H SolA
2,330€ * 350 * 1.53 1,224
— XNEMMEAL EXARK 382 EHR2
330 * 350Y¥ * 23| 231
~ NHWEA ZH3 2B B2
2,3308 * 380¥ = 1.53 1,329
— 2HY HIEY """ HHIA E4A 022
60,0008 = 12&€ 720
202 04| 3,700 2,900 800
01 2Ll 3,700 2,900 800
O NEBMHEASYN A7 L dIZX| XA
20,000& * 29 = 50 2,000
O NEBTHEZA SSHZAF & F0HdHI|
0,0008 = 3% * 15L 900
O NEMHEA 35S
100,000& * 29 * 22 * 23] 800
301 LBt N = 43,000 60,000 A 17,000
12 JIEtE &= 43,000 60,000 A 17,000
O JIEtEA 2 43,000
— XNEMWEAI 22X 2 ZE2 =2
43,000,000 = 14! 43,000
Ml H = Xl H & 53,843 70,420 N16,577
201 LBt 53,243 69, 820 N 16,577
01 AP 22| H| 53,243 69, 820 N 16,577
O ddutx=24| 52,283
— NEZSSEIEE HASXH HE
97,000 = 0.7 = 700& = 1.1 52,283
O 2] 960
~ XNEZL MHASKH HESE 27 2
Hl 8,000& * 2 » 52 » 12& 960
202 o4 | 600 600 0
01 2L I 600 600 0
O MHHSXH INHEHS ZAFY S o4
20,000 * 2 = 15g 600
INE=DUEPN == 166,442 43,182 123,260
= 166,442
201 et 9| 166,442 43,182 123,260
= 166,442
01 AFR 2t 2| bl 166,442 43,182 123,260
O dutx=2H| 166,442




2N
X ZH -
L= B

el

ol S At
CXENH RS
K= TH & At 22l

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
— NEMZENSY 2%2
192,864& * 863 Xl 166,442
= 166,442
HE S e 490,787 506,457 A 15,670
NGAIE 2 A LHs) 460,845 426,515 34,330
201 Let249] 960 800 160
01 At 22l 960 800 160
O S&tl 960
— XStAIE2 &Matst =8 S
8,000& = 2 * 5& » 123 960
202 o4dl 600 600 0
01 = LH 4 Hi 600 600 0
O XIGtAIZ 2 DB A&l XA 044
20,000& = 2% = 15¢ 600
401 A& HIZ 201 I 459,285 425,115 34,170
01 A& HI 457,000 423,000 34,000
O XIStAIE&E2 0B == 457,000,000 = 14l 457,000
03 Al S THHI 2,285 2,115 170
O XIctAl2&= DB =
457,000,000 = 0.5 / 100 2,285
ANAE S 22 29,942 79,942 A 50,000
201 Let24E] 29,942 0 29,942
02 2324l 29,942 0 29,942
O AIE€&EHI KX 29,942
— XNStANIESSS2ACAMAE SAB+ 29,942
H/W 139,000,000& * 10 / 100 » 1.1 15,290
S/W 133,200,000& * 10 / 100 * 1.1 14,652
=0 ZHEEH 1,212,571 1,674,656 A 462,085
= 932,778
< 116,598
s 163,195
THE=z T ,212,571 1,674,656 A 462,085
= 932,778
< 116,598
s 163,195
J=Magxg It FASH (LX) ,212,571 1,674,656 A 462,085
= 932,778
< 116,598
s 163,195
301 LEd = 512,571 974,656 A 462,085
= 372,778
< 46,598
[ia 93,195

no
|




SN RIREAD
Hu: 20| EMEPE
TR

Sel: JEMBLST CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET

01 MI2EZE+06l= 512,571 974,656 A 462,085

O gx=a 512,571,000& = 14l 512,571

= 372,778

< 46,598

[ia 93,195
308 XtXIEHHSOIA 700,000 700,000 0

= 560,000

< 70,000

[ia 70,000
10 SII 2 SOICHEHE & X 2 EF AL I 700,000 700,000 0

O =dKkIs0 700,000,000& * 14 700,000

= 560,000

< 70,000

s 70,000
AL AL (2B SAD) 44,660 38,160 6,500
Jl2ZH (22 SAt) 44,660 38,160 6,500
JlaZgl(ed) 20,900 20,900 0
201 Let24d] 15,400 15,400 0
01 At 2teltl 15,400 15,400 0

O L=t 12,000

— BAN2Y SHEAY 12,000,000& 12,000

O = & dl 3,400

— RA2Y SHAY 3,400,000& 3,400
202 044l 5,500 5,500 0
01 SLHOIYI 5,500 5,500 0

O BA2Y A& 5,500,000& 5,500
J2ZHl(HF) 5,100 5,100 0
201 2Bt | 2,400 2,400 0
01 At 2teltl 2,400 2,400 0

O = & dl 2,400

— RA2Y SHEAY 2,400,000& 2,400
202 (44l 2,700 2,700 0
01 SLHOIYI 2,700 2,700 0

O BA2Y SHAHA 2,700,000 2,700
Jl2ZHl(XH) 4,200 4,200 0
201 Yete | 2,000 2,000 0
01 At 22/l 2,000 2,000 0

O = & dl 2,000

— BAN2Y SHAY 2,000,000& 2,000
202 (44l 2,200 2,200 0
01 S LHOIYI 2,200 2,200 0




<

n0

Kio

Hl w

6,500

3,000
3,000

3,500
3,500

H3r
Wikd
RIS

3,800

1,800
1,800

2,000
2,000

4,160

2,000
2,000
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